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CLASS VIII: Maths
Chapter 8: Algebraic Expressions and Identities

Questions and Solutions | Exercise 8.1 - NCERT Books

Q1:

Add the following.

(i) ab - bc, bc - ca, ca - ab
(ia-b+ab,b-c+bc,c-a+ac
(iii) 2p%q% - 3pg + 4, 5 + 7pq - 3p%q?

(iv) P+ m% m2+n% n?+ /2 2lm+2mn + 2nl

Answer :

The given expressions written in separate rows, with like terms one below the other and then
the addition of these expressions are as follows.

(i)

ab - be
+ be - ca
+ ~ab +ca
0

Thus, the sum of the given expressions is O.
(if)
a—h+ah

+ h —c+be

-+ - C + e

ab +bho+ac

Thus, the sum of the given expressions is ab + bc + ac.

Class VIl Maths www.esaral.com



http://www.ncrtsolutions.in/
http://www.ncrtsolutions.com/
javascript:void(0);
user
Typewritten text
Questions and Solutions | Exercise 8.1 - NCERT Books

user
Line

user
Line

user
Typewritten text
CLASS VIII: Maths
Chapter 8: Algebraic Expressions and Identities

https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
user
Rectangle

https://www.esaral.com/seo-pdf-android

¥Sa ral JEE | NEET | Class 8 - 10 Download eSaral APP [

(iii)

2p'q’ —3pg+4
+ -3p'q” +Tpg+5

— p'g’ +4pg+9
Thus, the sum of the given expressions is - p>g® + 4pg + 9.

(iv)

I*+m’
+ mo+n
+ I? 7
+ 2m+2mn+2nl

20 +2m" + 21 + 2m+2mn+2nl
Thus, the sum of the given expressions is 2(/> + m? + n> + Im + mn + nl).

Q2:
(a) Subtract 4a-7ab + 3b + 12 from 12a-9ab + 5b - 3
(b) Subtract 3xy + 5yz - 7zx from 5xy - 2yz - 2zx + 10xyz

(c) Subtract 4p?q - 3pq + 5pg? - 8p + 7q - 10 from 18 - 3p - 11q + 5pgq - 2pg? + 5pq

Answer :

The given expressions in separate rows, with like terms one below the other and then the
subtraction of these expressions is as follows.

(a)

[2a — 9ab + 5h - 3
4a — Tab + 3b + 12

- () () )

Ba — 2ab + 2h - 15
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(b)
Sxy — 2yz - 2zx + 10xyz
3xy + Svz - Tzx

(=) (=) (+)

2xy —Tyz + 5zx + 10xyz

(c)

18 =3p — 1lg +5pg - 2pg° +5p°g
-10 -8p+ 7q —3pg + Spg° + 4p'q
(+) (+) (=) (=) (=) (=)

28 +5p = 18g + 8pg - qu: -+ p:q
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